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[ Part A: Vcabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the correct choice on your answer sheet.

1- I was confused when reaing the student’s paper because it lacked ----e----- . First A
told about a trip to a farm, and then she described her math test, and her topic was
supposed to be about a favorite building.

1) persistence 2) coherence 3) equivalence 4) inference

2- If you are here in the autumn, you will also see that the oak is losing its leaves. Most
oak trees are ----------- , meaning they lose their leaves in the fall.
1) deciduous 2) symbiotic 3) immutable 4) asymmetrical

3- When I went to visit, Marsha’s greeting was ----------—-. A few people had told me that
she was often cold and unfriendly, but I did not find her so.
1) cordial 2) inevitable 3) ravenous 4) gloomy

4- One area that greetings illuminate is -----------. For example, which person says “hello”
first and how someone is greeted can be part of the stratification system in a society.
1) awe 2) demise 3) deterrence 4) status

5- Welfare workers were sternly -----~~---- by the court for ignoring the woman's plea for
help.
1) transmuted 2) coerced 3) rebuked 4) enforced

6- Kate shouldn't have any problem finding a job with her — of skills.
1) attachment 2) repertoire 3) initiation 4) expertise

7-To ~— the boredom that had set into my life, I decided to live on a farm for a year.
1) flactuate 2) elicit 3) distract 4) alleviate

8- We should ----------- our nation’s teachers because they have much of the responsibility
for educating the future.
1) verbalize 2) vindicate 3) venerated 4) verify

9- Twins, being of —-——- ages, are usually even better matched on environmental variables
during upbringing than are siblings.
1) identical 2) volatile 3) adjacent 4) consistent

10- The great strength of 123 For Windows is its -- with all the earlier versions of the

product.

1) disparity 2) neutrality 3) compatibility 4) clarity

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits .

each space. Then mark the correct choice on your answer sheet.

In a fundamental discovery made in 1954, James Olds and Peter Milner found that stimulation of
certain regions of the brain of the rat acted as a reward in teaching the animals to run mazes and solve

problems. The conclusion from such experiments (11) ==---=n-== stimulation gives the animals pleasure.
The discovery has also been confirmed in humans. These regions are called pleasure or reward centers.
One important centre is in the septal region, (12) -—-----=--- are reward centers in the hypothalamus and
in the temporal lobes of the cerebral hemispheres (13) ---------—- . When the septal region is stimulated in
conscious patients (14) ----------- neurosurgery, there are feelings of pleasure, optimism, euphoria, and
happiness.

Regions of the brain also clearly cause rats distress when electrically stimulated; these are called
aversive centers. (15) --—-------, the existence of an aversive centre is less certain than that of a reward
centre.

11- 1)is 2) are the 3) is that 4) whose

12- 1) where 2) where they 3) in which 4) and there

13- 1)as well 2) either 3) also are 4) are too

14- 1) to be undergone 2) undergoing 3) undergo 4) have undergone

15- 1) Otherwise 2) However 3) Even though 4) By the same token
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PART C: Reading Comprehension

Directions: Read the following two passages and answer the questions by

choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
your answer sheet.

Passage 1:

In 1889, the Eiffel tower was unveiled at the Paris World Fair and, despite the initial debate
over its aesthetic appeal, within a short period became the iconic image of a city and a symbol
of technological progress. Over one hundred years later, at the 2008 Olympic games in Beijing,
China unveiled it own architectural wonder, which, like the Eiffel Tower, was a metal mega-
project. The Beijing National Stadium - more often referred to as the Bird's Nest stadium - took
five years to complete and was constructed using 42,000 tons of steel, making it the largest
steel structure in the world. '

Measuring 330 meters long, 220 meters wide and 69.2 meters tall, the design of the Bird's Nest
stadium design is based on 24 trussed columns, weighing 1000 tons each. Due to their weight,
no crane was strong enough to lift the columns into place when construction of the stadium's
steel outer shell began in 2005. As a result, the columns were shipped in parts to Beijing and
assembled in position. After all 24 columns were in place, smaller beams were welded between
to give the structure greater strength and enhance the unique, elliptical crosshatch appearance.
Finally, a third set of beams was added in order to hang the transparent, polymer membrane,
which provides roofing between the steel beams.

Three months of research led to the production of a new steel with low phosphor and low
sulphur content, which they termed Q35. Q35 is a high-hardness steel able to bear stress up to
350000000 pascals. This would be critical in the construction of the 24 trussed columns, each
of which were 300 meters in length and expected to help bare a load of 11,200 tons. The new,
high strength steels, however, presented their own problems during construction, as higher than
normal welding temperatures were required, often in very precarious and high locations.
Welding, moreover, could only be conducted in temperatures of 15-16°C, which meant that
workers had to weld during evening hours. In August of 2006, over 400 welders worked for
three straight nights to weld the 320 kilometers of welding seams required to assemble the
stadium's iconic, latticed steel frame.

By September of 2006, the structure was deemed ready to stand on its own and the 78 support
pillars were removed one-by-one in front of a nervous design and construction team, leaving
the entire structure standing on its own. Like the Eiffel Tower, the Bird's Nest has not been
without its share of criticism, particularly for its non-traditional style and appearance.
Nevertheless, it has become a poignant symbol of modern China and the engineering ability of
mankind.

What is the main structural role of pillars in the stadium?
1) Bearing gravity loads

2) Bearing the loads during construction

3) Carrying the wind load

4) Carrying the earthquake load during construction
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According to the passage which statement is correct?

1) Increasing sulphur content decreases the steel ductility

2) Increasing phosphor content increases the steel ductility

3) Increasing sulphur content increases the steel hardoess

4) Increasing phosphor content decreases the steel hardness

What is the weight of the Beijing Olypic games beams and roofs?

1) 18000 tons 2) 42000 tons 3) 24000 tons 4) 66000 tons
Which one is the largest steel structure in the world?

1) Bird's nest 2) Paris World Fair

3) Eiffel tower 4) Sanfrancisco bridge

What was the main challenge before the Eiffel tower was constructed?

1) The structure elevator 2) The structure size

3) The structure stability 4) The structure beauty

Passage 2:

The selection of ground motion prediction models, and the determination of the contribution
weight to assign to each of them, is a fundamental component of any seismic hazard analysis. It
was demonstrated that the uncertainty corresponding to the selection of the attenuation model
influences the hazard results more than other aspects of seismicity modeling. This epistemic
uncertainty is often treated within the expert opinion approach through a logic tree framework.
The branch weights in a logic tree framework correspond to the degree of belief of experts in
different prediction models. Although seemingly straightforward, the logic tree approach is a
challenging tool to capture this uncertainty. Some professionals believe that any attempt to
assign numbers to degrees of belief, which are by nature personal and indefinable, and for
which there are neither tests nor measurements, is a strategic mistake. From another point of
view, it is indicated that due to the informal selection of the branch models and weights, the
potential pitfalls regarding the construction and the use of logic trees is a rational expection. In
addition to these general considerations, the absence of domestic experienced experts is
additional impediment with the use of logic trees in regions such as Iran.

According to the passage, which statement is correct?

1) Only one attenuation model can be used whithin seismic hazard analysis

2) seismic hazard analysis does not depend on attenuation model

3) It is possible to use attenuation models whithin seismic hazard analysis

4) attenuation model does not depend on seismic hazard characteristics

Which kind of uncertainty is present in the selection of attenuation model?

1) Aleatory uncertainty 2) Epistemic uncertainty

3) Randomness uncertainty 4) No Uncertainty

What does pitfall mean?

1) Porblem 2) Logic tree 3) Uncertainty 4) Sesmic hazard
What is the main challenge to use logic tree for the sesimic hazard analysis in Iran?
1) ack of attenuation models 2) Lack of ground motions

3) Lack of experts 4) Lack of knowledge about uncertainty
What does impediment mean in the text?

1) difficulty 2) Uncertainty analysis

3) Logic tree analysis 4) domestic experienced experts
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26- The construction materiahichmoslikely

T —— e —
Read the 5 following questions and choose the best

to be bundantly present in a masonary

structure is ---------- .
1) steel 2) brick
3) aluminum 4) rein forced concrete
27- Creep is the property of concrete by which it continues to deform with time under --------
loads.
1) suitable 2) sustained 3) suspended 4) substantial
28- A fracture phenomenon associated with a cycle stress condition is known as:
1) strain - hardening ~ 2) plastic hinge 3) ductile failure 4) fatigue

29- The stresses that are caused by cold bending and straightening, cooling after rolling, or

by welding are:

answer

Y+« 1)yield stresses 2) ultimate stresses  3) residual stresses 4) working load stresses
30-  One can ---—-----—--- between gravel and sand by visual inspection.
1) resolve 2) determine 3) tolerate 4) diferentiate
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